
KP5582

256 Piece SS Machine Screw Kit 12 compartment hinged plastic box (105x205x30mm)

Location Labels:  2- 2 color self adheasive labels- Front 3.125" x 2.5",  Back 3.5" x 2.5"

Quantity Fastener Fasco # compartment #

6 18-8  8/32 x 3/4 Phillips Oval Machine Screw 840 1

6 18-8  8/32 x 1 Phillips Oval Machine Screw 841 1

4 18-8  8/32 x 1-1/2 Phillips Oval Machine Screw 843 7

4 18-8  8/32 x 2 Phillips Oval Machine Screw 844 7

8 18-8  10/24 x 3/4 Phillips Oval Machine Screw 846 1

8 18-8  10/24 x 1 Phillips Oval Machine Screw 847 2

4 18-8  10/24 x 1-1/2 Phillips Oval Machine Screw 849 8

4 18-8  10/24 x 2 Phillips Oval Machine Screw 1779 8

6 18-8  1/4-20 x 1 Phillips Oval Machine Screw 854 12

4 18-8  1/4-20 x 1-1/2 Phillips Oval Machine Screw 856 10

4 18-8  1/4-20 x 2 Phillips Oval Machine Screw 857 12

6 18-8  8/32 x 1/2 Phillips Pan Machine Screw 798 2

6 18-8  8/32 x 3/4 Phillips Pan Machine Screw 799 2

6 18-8  8/32 x 1 Phillips Pan Machine Screw 800 6

4 18-8  8/32 x 1-1/2 Phillips Pan Machine Screw 802 7

4 18-8  8/32 x 2 Phillips Pan Machine Screw 804 7

8 18-8  10/24 x 1/2 Phillips Pan Machine Screw 808 3

8 18-8  10/24 x 3/4 Phillips Pan Machine Screw 809 3

8 18-8  10/24 x 1 Phillips Pan Machine Screw 810 9

4 18-8  10/24 x 1-1/2 Phillips Pan Machine Screw 812 9

4 18-8  10/24 x 2 Phillips Pan Machine Screw 814 9

6 18-8  1/4-20 x 3/4 Phillips Pan Machine Screw 824 10

6 18-8  1/4-20 x 1 Phillips Pan Machine Screw 825 10

4 18-8  1/4-20 x 1-1/2 Phillips Pan Machine Screw 827 11

4 18-8  1/4-20 x 2 Phillips Pan Machine Screw 829 11

8 18-8  8/32 NM Nylon Locknut (2B) 1331 5

8 18-8 10/24 NM Nylon Locknut (2B) 1332 5

8 18-8 1/4-20 NE Nylon Locknut (3B) 1335 5

12 18-8  8/32 Mach Screw Nut ( .343 x .125) 1306 4

12 18-8  10/24 Mach Screw Nut (.375 x .125) 1307 4

12 18-8 1/4-20 Fin Hex  Nut (.437 x .218) 1310 4

20 316  #8 (.174 x 3/8 x .032) Flatwasher 31394 6

20 316  #10 (.218 x 7/16 x .050) Flatwasher 31396 8

20 316  1/4" (.281 x 11/16 x .050) Flatwasher 31399 11

256

Flatwashers-

     Thickness tolerance +/-.007"

     Must be clean, burr free and passivated

     316 washers to be marked "316"

C:\Users\brianallen\Desktop\Fasco Kit Components List 8/7/2017


